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vector<long long> mincost(int N, vector<int> P,
vector<long long> V, vector<int> W,
int Q, vector<int> A, vector<int> B)
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o dwiu0 < i< N,wiheui il Pli] dusudlaenss, P[0] = —1
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o dWiul < i< N, Wli:Alddredn i devedlik Pi) luduitaes, W[0] = 0
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1< N <100000

1 < Q < 100000

0 < P[i] < N,dwmiui # 0, P[0] = —1
0 < V[i] < 1000000 000 000

0 < Wi < 1000000

0 <A[i]<N

0<B[i|<N

Uaynndoy

(5 points) N < 1000, Q < 1000

(5 points) P[i] = 0dwmsul <i < N

(12 points) Tusuiiaes wiinauauls q anansadevestideniineu 0 Tnedeielsifiu 10 vea
(12 points) V[i] € {0, 100000000000}, " W [i] < 90000 000 000

(12 points) Pli] =1 — 1dmsul <i< N
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mincost(7, [-1, 0, 1, 0, 1, 4, 4],
[45, 500, 110, 100, 0, 5, 95],
[0, 30, 40, 100, 10, 50, 20],
3, [3, 4, 11,[1, 0, 5])

HanduazhssAuan [35, 40, 495]
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e Time limit: 1 seconds
e Memory limit: 512 MB



